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A3 = cos3a + sin 3a

3 . . 3
—3cosa +4cos’ a+3sina—4sin”

—3(cosa —sin a)+ 4(cos3 a —sin’ a)

—3(cosa —sin a)+ 4(cosa —sina)\cos® & + cosasin a + sin” a)

—3(cos o —sin a) + 4(cos o —sin a)(l + cos o sin a)
=(cosa —sina)(—3 +4+ 4cosasina)

= (cosa —sin a)(l + 2sin 2a)

=4l
298 =ABKOAHEBEEL $EFMMFES & )
1+ tan? o = ! £n, cosza:; scosta=
cos’ a 1+tan’ & 1+ ¢2

sin 2a =2sin & cos
_ 2sinacosa
1
2sinax cosa
2 . 2
cos” a +sin”

sin &
cosla-2-

cos

2 sin® a
cos“a|l+ 5
cos“ a

sin o

2.
cos o

. 2
sin &
1+
cosa

2tan

1+tan’ &

2t
1442

c.sin2a =

cos2a =cos’ a —sin’ «
B cos? o —sin’ «

cos’ @ +sin’ «
5 sin® &

cos“ all— 5
cos” a

2 sin? &
cos“ al 1+ 5
cos” a
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sin o :
1_
_ cosa

- . 2
sin o
1+
cosa

_ 1-tan’ a
1+ tan’ &
2
cos20¢=1 tz
1+¢
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XKV, cos2x—cosx=0
ZHE cos2x=2cos’ x—15 1V, 2cos’x—cosx—1=0 .. (2cosx+1)cosx—1)=0

. 1
W21z, cosxz—z, 1

0<x<2x &V, sz,%n,?n

)
HAXLD, sin2x—cosx=0

T4 sin2x=2sinxcosx £V, 2sinxcosx—cosx=0 .. cosx(2sinx—1)=0

W2z, cosx=0i7’disinx:%

0£X<27[J:D, xzzaza
6 2

|
N
N | W
B

(©))

cos2x=2cos’ x—1L Y, 4cos’x+4cosx—3=0 .. (2cosx+3)2cosx—1)=0

2cosx+3#0 XD, cosxzé

0<x<2x &V, x:%, T

(SR RV

©)]
cos2x=2cos> x—1, sin2x=2sinxcosx £V,

2sinxcos” x +2sinxcosx(1+cosx)=0 .. 2sinxcosx(2cosx +1)=0

WP ZIZ, sinx=0 i?‘dicosszifdicosxz—%

2 4
0<x<2x &V, x:0,£,—7z,7r,—7r,§7r
23 3 2
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cos2x=1-2sin’*x, cos2x<sinx £ Y, 1-2sin’x<sinx .'.(2sinx—1)(sinx+1)>0

. . 1
@D 21T, s1nx>§

Ihkogx<2r kY, %<x<%7r

2)
cos2x=—-1+2cos?x, cos2x>cos’x £V, —1+2cos’x>cos’x ..cos>x>1
0<cos’x<17Z/5, cosx=-1,1

INnEo<x<27 XY, x=0,7
3)

sin 2x =2sinxcosx, cosx+sin2x>0 LY, cosx+2sinxcosx>0 ..cosx(2sinx+1)>0
- . 1 . 1
Wz IZ cosx >0, s1nx>—5 F 723 cosx <0, smx<—5

ZInD, fREE 2O 5,
iRl £ BTk B

cosx >0, sinx>—% D fi
0£x<£ui7z<x<27z A 0£x<l7zuﬂ7z<x<27z L0, 0Sx<£,£7z<x<27r
2 2 6 6 2 6

. 1
cosx <0, sinx < -3 Df

T 3 7 11 7 3
Zex<Iaznta<x<—n &V, Zrx<x<=x
2 2 6 6 6 2

LEXY,
0£x<£,z7r<x<§7r,27r<x<27r
26 6

etk 2 BAIM 2RI 5

cosx=u, sinx=v &< &,
2 2 1 2, 2 1
u” +v =l,u>0,v>—5if:6iu +v :l,u<0,v<—5

INEHRT D ERN—VDORD X D7D,
Fo T,

T 7 3 11
0<x<—, —7<x<—7m, — 7 <x<21m
26 2 6
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2
cos2x=1-2sin*x &V, y=2sin? x+25inx—1=2[sinx+%] —%

7, - Z2<x<Z Xy _1<sinx<1
2 2
Lo T,

smwhéwkﬁ,?ﬁb%ﬁ>%®&%%¢ﬁ—%

smﬁﬂwk%,ﬁﬁb%x:§®&%%k@3
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)

cos2x=—1+2cos’ x £ 0, y:l(1+cos2x)=l+lcos2x
2 2 2
V5T DHEST  y=—cos2x DFF 7% y BTN S TATBBT AU £V,

JEHAIE cos 2x @E%k%bb\ﬁ)%%:ﬂ




4STEP £# I GBHRfR) Zf8\V\CAT- http://toitemita.sakura.ne.jp

)
3sin? x + cos? x=3- 1—cos2x N 1+ cos2x
2 2
=-cos2x+2

£V, y=—cos2x+2

777 ORE )
y=cos2x D77 7% x W L CTHMBEIT 5 & y=—cos2x DV 7 7272500,
ZE y T I 42 AT EI AU L,

JEHAIE cos 2x @E%ﬁk%bb‘ﬁ)%%Zﬂ
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sin B _ sin C Ty, 1= sin Bsin C

tanBtanC =1, tanBtanC = =" -
cosB cosC cosBcosC

s.cosBcosC —sin BsinC =0

et
cosBcosC —sin BsinC = cos(B + C)
=cos(7r—A)
=—cos 4
XV, cosd=0
0<d<z EinG, A:%
PRIZ, AABCIXLZANHEATHIEMA AL TH D,
304
)

sin 26 cos 30 = % {sin(20 + 30) + sin(20 - 30)}
= % {sin 56 + sin(- 0)}
= %(Sin 560 —sin 0)
2
cos 46 cos O = % {cos(40 + 0)+ cos(46 — 0)}
= % (cos 560 + cos 30)
3
sin 30 sin 56 = % {cos(30 — 50) - cos(36 + 50)}
_ % {cos(~ 26) - cos86)

= % (cos 26 — cos 86)
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A=a+ B, B=a-p LB L,

sinA+sinB:2sinA+B A-B

2

COoS

sinA—sinB:2sinA_B A+B

2

COoS

cosA+cosB=2cosA+B A-B

2

COS

cosA—cosB:—ZsinA+B A-8

2

sin

(0]

sin 26 + sin 40 = 2sin 2240 05 20 =40

2
= 25sin 30 cos(~ )

=2sin36cosf
2)

cos46 — cos 260 =-2sin 40 +20 sin 40 -20

2
=-2sin360sin 6

(©))

c0s 36 + cos 26 =2 cos 360 +20 cos 30;29

=2 cosﬁcosg
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)

sin 75°cos 15° = — {sin(75° + 15°) + sin(75° — 15°)}

sin 90° + sin 60°)

£

4

1
2
L
5
1
2
2+

()
cos 75°sin 15° = — {sin(75° + 15°) — sin(75° - 15°)}

(sm 90° - sin 60°)

—
I

N N wl»— l\)l»—‘

&

ik

> |

I

(©))

sin37.5°sin 7.5° =

(cos 30° - cos 45°)

£_4)

1
2
1
2
1
2

2 2

o

4

(O]

sin 75° —sin15° = 2sin 5 ;15 cos75 ;15

=2sin30°cos 45°

£

2. L
2

N|s|
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(©))

cos15°+005105°=200515 +2105 cos15 _2105

=2c0s60° cos(— 45°)

£

. L
2

N|§|

()

COSlOS"—coslS":—zsin105 +15 Sin105 —15

2

=—25sin 60°sin 45°

R

2 2
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)

€08 20°cos 40° cos 80° = — {cos(20° + 40°) + cos(20° - 40°)}cos 80°

{cos 60° + cos( 20°)}cos 80°

( ! + cos ZOOJ cos 80°

2

(cos 80° + 2 cos 20° cos 80°)

=—{c0s80° + cos(20° + 80°) + cos(20° — 80°)}
{cos 80° + cos100° + cos( 60°)}

{ cos80° + cos(180° — 80°)+%}

( 05 80° — cos80° + lj
2

0 | — .|>|~ 4>|~ 4>|~.|>|~ 4>|~ NI»—‘ va—"\) -
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@

20° +140° 20° —140°
n cos

sin 20° + sin 140° + sin 260° = 2 si + sin 260°

= 25in 80° cos(— 60°) + sin 260°
=sin 80° + sin(360° — 100°)
=sin 80° —sin 100°
=5in(180° — 100°) - sin 100°
=sin 100° — sin 100°
=0

E el

n 20° +140° 20° —140°

sin 20° + sin 140° + sin 260° = 2 si cos 5 + sin 260°

=25in 80° cos(— 60°) + sin 260°
= sin 80° + sin(360° —100°)
=sin 80° —sin 100°

80°-100°  80° +2 100°

=2sin

= —25sin 40° cos 90°
=0

308
)

cos(a + B)sin(a - )= % [sin{(e = p)+ (@ + B+ sinf( = p) - (a+ B]
=%{sin 2a +sin(-23)}
=%(sin 200 - sin2ﬂ)

[FERIZ LT,

cos(B +y)sin(B - y)= %(sin 23 —sin 2y)

cos(y + a)sin(y —a)= %(sin 2y —sin2a)

LT, 5EX=0

11
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cosasin(p )= finle + ()} sinfa ~ (6 7]
:%{sin(a + [ - 7/)— sin(a -p+ 7/)}

[AARIZ LT,

cos psinly ~ @)= sini + (- ) sin{f - (7 ~ )]

1. .
:E{sm(—a+ﬂ+7)—81n(0l+ﬂ_7)}

cosy sin(a - ﬂ):%[sin{}/ + (0! - ,3)}_ sin{y - (0‘ - ,3)}]
:%{sin(og - B+ 7/)— sin(— a+p+ 7/)}

£-oTC, 5EX=0
309

1 TR oA zF| A

X+ 3x x—3x
cosx + cos3x =2cos cos

2
=2cos 2x cos(— x)

=2Cc0S2xCOSX

£,
2cos2xcosx=0

Lo T, cos2x=0F7=lFcosx=0

“RnEo<x<ar kv, x=F.E 3.
4°2° 4

L 2 3RO EFA
cos x + cos3x =cosx + (— 3cosx + 4 cos’ x)
=4cos’ x—2cosx
=2 cosx(Z cos? x — 1)
£,
2 cos x(Z cos? x — 1)= 0

Lo, cosx=0§f:&icos2x=%

It osx<2r L0, xzﬁ,ﬁ,zﬂ,
4727 4

12
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3x+5x 3x—5x
cos 5

CcOS X + cos3x + cosS5x =cosx + 2cos

= cos x + 2 cos 4x cos(— x)
=cosx +2cos4xcosx

= cos x(l +2cos 4x)

£,

cos x(l +2cos 4x) <0

O£x<%7f:°75>E, cosx>0
£ oT, 14+2cosd4x<0, ﬁ‘iﬁb%cos4x<—%,0£4x<2ﬂ

Dz, 27z<4x<i7r, Fhpblax<t
3 3 6 3
311

o2 -cof 202
Afefoe)

11 T
y=—9—=—cos| 2x +—
2(2 3

:n&%szﬁgszﬁ%; n,

N | —

zx+§:n, ﬂczot;x:%@a%ﬁ%ﬂﬁ

AW

2x+§:zn, ahr;czom:%ﬂ@& %%‘cd\ﬁﬁ—%

13
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A2 =sin 24 + sin 2B + sin 2C
24+ 2B 24-2B

=2sin 5 cos 3 +sin2{z — (4 + B)}

=2sin(4 + B)cos(4 — B)+sin{2z — 2(4 + B)}

=2 sin(A + B)cos(A - B)— sin{2(A + B)}

=2 sin(A + B)cos(A - B)— 2 sin(A + B)cos(A + B)
(

=2sin(4 + B){cos( - B)— cos(4 + B)}
:2sin{7z —(A + B)} 2sin Asin B
=4sin Csin 4sin B
= Al

/eil =sin2A4 + sin 2B + sin 2C
=sin24 +sin2B +sin 2{72' - (A + B)}
=sin 24 + sin 2B + sin{27 — 2(4 + B)}
=§in 24 + sin 2B — sin(24 + 2B)
=sin 24 +sin 2B — (sin 24 cos 2B + sin 2B cos 24)
=sin 2A(1 —cos2B)+sin 2B(1 - cos ZA)
=sin24-2sin® B +sin2B-2sin” 4
=4sin Acos Asin® B + 4sin Bcos Bsin® 4

= 4sin Asin B(sin B cos A + sin 4 cos B)

= 4sin Asin Bsin(4 + B)
=4sinAsinBsin{7r—(A +B)}
=4sin 4Asin BsinC

=il

A
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